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Instructions:

. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE

TOLD TO DO SO.

. If the information printed on your answer sheet is not correct, please

inform the invigilator immediately.

. Please use a pencil and write your answers neatly ONLY on the

answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

. Unless otherwise specified, all answers must be in exact value and in

its simplest form. Writing the units for the answers is NOT necessary.

. Rough-work sheets provided will be collected at the end of the contest

but they will not be marked.

. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 41x12=7 [1%0]
2)  72+18=7? [1%]
3) 117x23=7 [1%]
4)  338+26="? [1%]
5) 25x23x16=7? [1%]
6) 608+19+8="? [1%]
7)) 627 x53+53x373="2 [1%]
8) 203+7x18=7? [1%]
9)  340+350+14+16=2 [1%]
10) 966 —920+46 x 11 =2 [1%]
11) 618 —(21 x35-332) =72 [1%]
12) 112 +408 = (102—-94)="? [1%]
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For question 13 to 15, the answers must be expressed in proper fraction,

integer or mixed number.

H5E 13 £ 158 » TRLMALDEDE - BBERTBFR -

0
13)  Evaluate 13 + E E [1%]
19 19 19

13 16 11

AR 19 19 19

0
14)  Evaluate 4%—21—3. [1%%]

[1%]

15) Evaluate 7 - (1; + 3%) :

N 5 3
TR 7(—-|1=4+3=|°
m-{i7es)
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16) Both 91 and 119 are divisible by a number. What is the largest [2%0]
possible value of the number?

91 A1 119 R ] DIH R BEERR - 2B AR AIREEEZ /D ?

17)  There are 280 chairs in a hall. If the chairs are arranged in rows of ~ [2.1%0]
15, at least how many chairs should be added such that the

remaining chairs can be arranged as a row?

1B 280 T - ANSIBRITE 15 TRHER—(T » SV E
NREF 25/ DIRA BEBER T R T HEs— 1T 2




MathConceptition 2024

18)  The daily salary of Kelvin is $415. He had 9 days off in April. How [2.2%]
much did Kelvin earn in April in dollars?

SCERTHFE 415 7T > AEVUHA 9 RIEHH - RN A Sk

Wbt ?

19)  Bella has a can of biscuits. The biscuits can be distributed to 15 or ~ [2.3%]
21 people equally without any leftover. At least how many biscuits
are there in the can?

NICE — Rz - EERRZ P 04G 15 ANB 21 A #Z A H
BF - BT VA EFHEZ D BE 7
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20)

C : 5 [2.4%]
The finishing times of a marathon for Louis and Tony are 45 hours

and 49—6 hours respectively. If Kenny finishes the race ! hours

faster than Tony, what is the difference between the finishing times
of Louis and Kenny in hours?

?@ﬁ%ﬁ%&%mm&%%%%ﬁ%ﬁ4g$%ﬁ%?m

%oﬂ%%%&%ﬁmg$%%&&%’%@ﬁ%ﬁ%&&
SR IA S 5/ D N 2

21)

If the 5-digit number ABBBC is divisible by 3 and 5, and the sum of [2.5%]
A, B and C is 20, what is the number?

R FLAr 8 ABBBC T LI#s 3 M1 5 #2fx > 1 A ~ BRI C ZHIE
20 ZEEZ/D?
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22)  Which of the following shapes can be formed by 3 isosceles right-  [2.6%0]
angled triangles of the same size and shape? Choose all correct
answers.

3 (EFZARFIA IMHEI R ZERE B A = A7 i] DI R L IR EESE
ik ? BELPTHE IS -

A) Triangle = B) Parallelogram “FZ{TUUEH
C) Trapezium 2 D) Pentagon F =
E) Hexagon /N F) Octagon /S
23)  Find the sum of all the common factors of 126 and 162. [2.7%]

oK 126 H1 162 HIFTA A NECZA -
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24)  Find the perimeter of the figure below in cm. [2.8%]
LU BT A S 2%/ DB 2
42 cm
7 O
10 cm

H O

15 cm m C

9 cm

] bem o 17 cm
m C

25)  Making 360 mL of coffee needs 24 g of coffee beans and 85 mL of  [2.9%]
milk. There are 1.08 kg of coffee beans and 3.74 L of milk in the
cafe. At most how many millilitres of coffee can be made?

M 360 =T HIMIWERE S A 24 saRyuinyE ST 85 = YA -
NSEEE A 1.08 A HYIIWEEAD 3.74 THRYASD > 2% A LT
e b EZ 5T 2
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0
26) N is a prime number. If 4% < % < 5; , find V. [3%]

3 N 5
N E—{EE% - 405 4;<7<57 » SR N o

0
27)  Convert 34—01 0 a decimal. [3.1%]

141, .
it g BRI
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28)

A rectangle can be cut into 5 identical squares, each of perimeter [3.2%]
64 m. What is the area of the rectangle in m??

—{EEHEILLAEIR S TSR 64 KIEHR - EI
MRS VP Ik ?

29)

The post office is 300 m to the north-west of the cinema, while the  [3.3%]
park is 200 m to the south of the post office. Flora starts at the

cinema. She first walks 100 m to the south-east and then 400 m to

the south-west. The park is to the _? of Flora.

B BRI IL T o AHER 300 3k - AEEESAVRE T > MHEE
200 0K /N7 EHBRBEH 5% - JeRIEREEUTIT 100 0K - FRIPE R
17400 5K > AEABENTTRY_ 2 -

A) cast B) north-east C) south D) south-east
L] (i) FE 7 g7
E) west F) south-west G) north H) north-west

iEpa] ) 1675 iR lA]
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30)

Below are some chests numbered from 1 to 28. Only one of them [3.4%]
contains treasures. Find the number on the chest that contains the
treasures according to the following clues:

® The number on the chest is a product of 3 prime numbers.
® The chest is located at the row with a chest whose number has
8 factors.

LUNESmIT Ry 1 2 28 Ve - HEHEP —#RaEY) - IRE
PUNGRE - hitiisos BV E R AT -

® EMAVETLE 3 HERE A -
® ZEEPTERVRETTA | EERAVETTA 8 HXNE -

T A2 Y A NN A~ N A~ XN AN A
O O ) O U )
1 2 3 4 5 6

T A NN AN AN AN A N A
O O O O ) O
7 8 9 10 11 12

T AN AN AN A~ YN A XN A
O O O O ) O
13 14 15 16 17 18

T A YN AN~ NN A~ YN A~ YN A
O ) O O ) O
19 20 21 22 23 24

o) A Y A~ NN A~ N A )
O O O )
5 || 26 || 27 || 28
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31) The figure below is formed by overlapping 6 identical rectangles. [4%0]
The perimeter of the figure is 416 cm. What is the area of the
unshaded part of the figure in cm??

PUNEIZER 6 A/ MHRIR G EERIMAL - BZEAYERE
416 JEOK - [EIZEZE 5 B RV 2%/ 0P T JEDR 2

A I

84 cm

32)  Find the sum of all 3-digit odd numbers which are not multiples of ~ [4.1%]
5.

KETAERE S BB EEY =L sy BHIAER -
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33) Below shows a pinboard with 16 pins. How many rhombuses can [4.2%]
be made using rubber bands?

NEDE—BE 16 $TH > GRS AT E R DR ©

34) A rectangle with perimeter 2 m can be cut into 24 identical squares. [4.3%0]
What is the difference between the largest and smallest possible

areas of the rectangle in cm??

—{E A FUE 2 SREVR I AT LT B 24 {E#A/ME[EHY E T
1 o RGO IR A MR /N AT RE AR 22 25~ 5 K 2
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35) Find the value of the 8™ term of the following sequence. [4.4%]
SKEUNEFE 8 THAYE

10, 21, 55,91, 187, ...

36) From 414 to 2024 (including 414 and 2024), find the units digit of ~ [4.5%]
the product of all even numbers except the multiples of 10.

FH 414 % 2024 (fIFE 414 f12024) > SKER T 10 Y82 AT
AEREZ FRAIENLE -
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37)  The figure below shows the floor plan of a maze. When visitors [4.6%]
enter the maze, the entrance closes. They must pass through all
doors for the ‘Exit’ button to be appeared in the last room.
However, each door locks once it has been passed. Which of the
followings could be the last room? List all possible answers.

TEEEREAFEE - EREEEARER - AR -
BB ATATT > | BERE ) fi A IR R R —(E 5

A - ABEEPT— s e ss b o U—REREHEE ? FIH AT
HHREEZ -

Legend [E{]

mmmm Door [
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38) Find the value of the following expression. [4.7%]
KELTHEAAE -

2x(Ix1+2x2+3x3+...450x50)+1+2+3+...+50
4x6+8x10+12%x14+...+ 200 % 202

39) Find the missing number. [4.8%]

R A -
/ ‘a \ /4::4\
Vi : \ 1

> P>

<
<>
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40)  The figure below is formed by three types of squares with different [4.9%]
sizes. The area of one of the squares is given. What is the area of
the whole rectangle in m??

NEVE =R RNV IR AT AL - ERIE T —(E1IET
AR - Bl & T PR ERRE 2 /5K 7

15 m?

End of paper
e
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